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Question
What is epistemology”
TR U] h1Y”
(A) Science of Knowing (B) Science of understanding
CIUGERICACEIE) GEEREZICACEIE)

(C) Knowledge of Science(fa3HTd M) (D) All the above(@3d Td)

Which of the following describes inductive theory in research?
(ATt PHIvId FRNEATIT IR Rigidre auiH #d?)
(A) Logical model in which general principles are developed through experimentation
@M Hiod SO H dw TaRTgR fasmRd et Sidrd)
(B) Logical model in which general principles are developed through observation.
@M Hiod UM A dw FRISOTER fawmRad det Sirdrd.)
(C) To induce the thinking process (fdaR Ufshar URd HRuarIah)

(D)  To deduce ideas from observations. (ﬁﬁ&l U b Yl cblc;lﬁ)

What are the three important purpose of social science research?
QTR o TI=MeHTe 7 Aewar I B0 3Ted?)
(A) Understanding, decoding and theorizing human activity.
@A oy TS 0, faidrdierur H301 STTOT Rigid HRon)
(B) Sampling, exploring and understanding social phenomenon.
(G 901, RN TIO1 HraTfoleh ge-T U °ur.)
(C) Induction, Deduction and sampling (31Hehd, TSR 0T 7T

(D) Exploring, describing and explaining a social phenomenon

(GRS g 39T, gui- 371for Wi

Assertion (A): Social science research helps in understanding and solving societal problems.
Reason (R): Social sciences rely on experimental methods similar to natural sciences.
(A) Both A and R are true, and R is the correct explanation of A

(A 30T R S I 3R TR B A < TG WHIHRUT 3]

(B) Both A and R are true, but R is not the correct explanation of A.
(A 30T R T61 T 3MTed, TR R § A I I WPIHR0T A4

(C) Adistrue, but R is false. (A I 3{Tg, TR R WIcT 3173.)

(D) Ais false, but R is true. (A @IeT 37, JUT R T 3MT8.)

Which Article of the Constitution empowers the President to call for the information from the
Government?

RSIUC AT DI HAH APYAT IRDBRDB G Hifgd! ANTIUATT DR el 3i1g?
(A) 75() ®) 75(I)
(©) 78(a) (D) 78 (h)

Which ethical aspects should be considered while conducting research?

TN HRAMT BT A YT faaR sa arfger?
a) Confidentiality (TG b) Psychological injury (AT SSlT)
c) Motivation (S0 d) Bias (J&Td)
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Choose the correct pair (Cﬁﬁ[ el ﬁa@)
(A) a,b&d (3 d3HMT) (B) a c&d (3 ® IAMT)
(C) Onlya& b (Wad 3 AT F) (D) Onlyc & d (Bad & AT T)

Achieving objectivity in social research is challenging because:
(TSI FRNYATHE GRS YT HRUl HTgHIHD 318 DHIRUT:)
a. Social phenomena are complex (ﬂ]ﬂm‘aﬂﬂﬁﬂ Gﬂ%ﬂ)
b. Researchers may have personal biases (WW‘H CRIESED E@fﬂ'ﬁ' S Rehdld)
c. Variables are easy to isolate and control (EIFraTI@FW &Tﬁ[ﬁﬁﬁﬁwm &ﬂ%)
d. Social contexts are diverse .( TS e %%?ZIEUT &H%FI)
(A) Only a (Wad 31) (B) aandb (3f 3T )
(C) ab,andd (31,9, 30IE ) (D) a b,andc (3, d, AT P)

Which of the following best describes a hypothesis?
(AT PHIVI Telded qui HRa?)
a. A prediction that can be tested (Th 3Tl STl Wﬁmm
b. A random assumption (U el *anldor))
c. A statement that can never be proven wrong (3@ faeum S wefat 1g,or;\lt\l 1< g1 Tad "-ITE?[)
d. A relationship between two or more variables (G fdar 3ff¥e Tt dae)
(A) Only a (e 3) (B) aandd (33T )
(C) b and c(d HTUTP) (D) ab,andd (31,9, 3OS )

Which of the following are characteristics of a good hypothesis?
(T eI T WeaUdh! HIvN dfeTse 3TRd?)

a. Testable (AU HRUTAN) b. Simple (I8

c. Emotional (MTd{-e gfakargiar STeTRa) d. Falsifiable (31c)

(A) Onlya (%o 3) (B) aandb (31 3TOr4)

(C) ab,andd (3,9, 3AOIE) (D) a b, candd (3§, b, AE)

A hypotheS|s that suggests no relationship between varlables is known as:

@A HIurarg! Yoo Yierd HRURT TEld WUH el §ild:)

a. Null hypothesis (3 TJfgd) b. Alternative hypothesis (T TJgTdd)

c. Directional hypothesis (ﬁ'&ﬂ?ﬂﬁ trhwm) d. Statistical hypothesis (HT@IW 1]'@?@)
(A) Onlya (Pad 3) (B) aandb (31 30T 9)

(C) candd (& 3AUE) (D) Only b (P 9)

What is Longitudinal design?
(&Fﬁﬁf (Rekhansiya) 3RTIST BN h1Y?)
(A) A same sample is studied over a period of time and makes repeated observations.

(AT TH-ATAT BRI BITaeTd 3T ol STl 0T IRAR FRI&0T doeht SiTdT.)

(B) The study is conducted in a staggered manner. (¥R s Jgaie bl \ﬂld\l.)

(C) carried out in a deliberate, staged approach [i.e. serially] where one stage will be completed,
followed by another, then another, and so on, with the aim that each stage will build upon the
previous one until enough data is gathered over an interval of time to test your hypothesis.

Page 30f 11



12.

13.

14.

15.

PET 2024 (9028)

(FIIRER, AT et et 37 T <o [Sgehfiih ddl]qvfobmlwlsm SIERK
GO, AR G, 3101 3R, U <Wl AT UhTaR dUR glad I1 S& M STT]
TR ST SUATTET ST SR QR ST T T,

(D) Al the above (Gt Td)

Research design is important because it:

(G SHRREST HETdT 318 HRUIT )

a. Provides a blueprint for the research (ﬂ?ﬁﬂ?ﬂ]’cﬁ BT UaT HRd )

b. Ensures control over variables (liaR =0T G Hd )

c. Helps to collect irrelevant data (&Wﬂﬂ%ﬁ[ BT HRUTT HGd B )

d. Focuses only on subjective methods (thdd AT TGaiar a8 dbigd HId )
(A) aandb (31309 ) (B) ab,andd (3§, 3OS )
(C) bandc (3 3MOTH) (D) Onlya (%ad 3 )

Sampling is necessary in research because:

(HRNYETT AT SHTa=RGD 3T PRI :)

a. It is time-saving (%' a'lilﬁﬁ)

b. It reduces the cost of research (%mﬁm@?fmﬁﬁﬁ)

c. It includes the entire population (ATd §YUf AT THIAY 31T8)

d. It leads to accurate results (%' e—qwuhvnné?r )
(A) a b,andd (31, @, 3M0IE) (B) Only ¢ (Pdd &)
(C) aandb (3f3MfUr9) (D) only d (PH )

Probability sampling methods include:

(EUTTAT TG UG9S JaTdy 3118 )

a. Simple random sampling (FIT‘EIT qrefash THATUexd )

b. Stratified sampling (&Ridd TG Usd )

c. Purposive sampling (%ggewe THTU&d )

d. Cluster sampling (HHg THT Ukd )

(A) ab,andd (3,9, 3OIE) (B) aandc (3130 )
(C) a b,andc (3, d, 0T &) (D) Onlyd (P B)

The advantage of sampling is:

(T BTIE BUN )
a. Reduced time and cost (330" &Tﬁ@ﬁw@ﬁf )

b. Involves the entire population W@WW@@W )

c. Improved accuracy (g

d. None of the above @ﬂﬂaﬁaﬁmﬂﬁ)

(A) aandb (3130 ) (B) Only d (B S )
(C) aandc (31 30 ®) (D) Only a (a3 )
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What is a “A report on social life that focuses on detailed and accurate description rather than explana-
tion” called?

"TFIHRUMUET TURNAIR ST 3 JUIHTGR A& hisd HRUIRT FHTSID Siia-Tasid Sgare” el
DY FBUIdId?

(A) Interview (HcTRAd) (B) Observation (fFRT&N)

(©) Sampling (Y- (D) Ethnography (TU-TIITHT)

Which of the following are types of experiments in social research?

(SIS RN TRNTIeAT S IoTeT UHRIa! THIa= gl )

a. Field experiment (éHSﬂ?:[ER:h"T ) b. Laboratory experiment (E@WW)
c. Double-blind experiment (§°[ SHYF gaRT ) d. Case study WE@T )

(A) aandb (3 3MMf0I9) (B) ab,andc (3, AMF )

(C©) b,c,andd (@, &, AT ) (D) aandd (3 3HMIT)

Merits of the experimental method include:

(TR TG IO arHed JHTAY 3ed )

a. Control over variables (EITﬂTRﬁTEIUT ) Db. High external validity (BE[W%%IHT )

c. Precision of data (Irf%_cﬂ?ﬁ S{chdl ) d. Ease of generalization Wﬁmm )
(A) aandc (3 3fOr® ) (B) bandd (@ 3fUIT)

(C) ab,andc (3, 3T ) (D) acandd (31, &, AMT)

Which of the following are limitations of the experimental method?

(TR Tgdi=al HaieT HIvT 3ga? )

a. Ethical concerns (ﬁﬁ@ﬁﬁﬂ ) b. Difficulty in controlling all variables
GEENIERRRIERERIEIREEE D)
c. Lack of precision (&W?ﬂ HYId ) d. High cost (BE[F_ﬁf)
(A) aandb (373019 ) (B) bandc (@30T )
(C) ab,andd (31,9, 30T ) (D) b,candd (@ 9, 3OS )

Key processes in statistical research include:

(TIRSTD 1T A=A Hgwared Uihaidsd THIay 318 )

a. Data collection (IIT%FﬂTﬁETW ) b. Data coding (IIT%Eﬁﬁ%‘T )

c. Hypothesis testing GI%WEHEWﬁ ) d. Random sampling (QIEI?EN> 4T )
(A) aandc (3 3OTF) (B) a,bandd (31,930 € )

(C) ab,andc (3, 3AMOTH) (D) b,candd (@, &, AMOIE )

An inductive approach to the study of social life that attempts to generate a theory from the constant
comparing of unfolding observations. This differs greatly from hypothesis testing, in which theory is
used to generate hypotheses to be tested through observations. What is this approach to research?

(HTHTSTS STl SIS Udh IR E81eh I Sl Ser TS U=l fARTefuri=an fARaR qamaeyA
Ry id FH0T SR Uad Sl § Teidd Arauite shd a7 3T, sarmed Rigiaran arR
fSemmgR ol HRuarSt TEiae FHfor HRUarITSt B STt TR 81 ESieH B 31R?)
(A) Theory Testing(Riid Trol) (B)  Theory building(Ri<id siemfh
(C) Grounded Theory (TS S8 3R (D) Theorisation(RIl
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Which of the following are methods of collecting data in social research?
GSIGISES GRNYATIT Sl 3T HRUITH] Headl ap U] \’rﬂ%ﬂ? )

a. Interview method (HATRAd Usd ) b. Observation (fARI&f0T )
c. Chi-square test (PTd @Wﬂﬁlﬂﬁ-) d. Questionnaire (E[%ﬂ?ﬁﬂ)
(A) aand b(3f3OTH ) (B) a b, andd (3,4, 3MMOIT)
(C) b,c,andd (&, P, 3OS ) (D) aand c(3{ AU )

The key steps involved in data processing are:

(@ ufordT HRUTTC TE <@ I 3Mgd? )

a. Editing (dTG) b. Coding (fagdhcitamRon)

c. Plagiarism check (ET%?JEN:HUNU?[ ) d. Tabulation (HRUﬂWT)

(A) aandc (33O ) (B) aandd (33T )

(C) ab,andd (31,9, 3MUIE ) (D) bandc(@ AMOTH )
Which of the following are measures of central tendency?

(hoIT TR SUTITHE HI0Td FHIGY 3TRd? )

a. Mean (TRIERN) b. Mode (Sg3®)

c. T-test ('cpf Eﬂ?lUﬁ-) d. Median (H&HI)

(A) aandb (31309 ) (B) ab,andd (3, 3OS )
(C) bandc (&30 ) (D) aandc (3 3MOT®H )

Content analysis in social research involves:

(TSI MY favgasd fa=eiyor armed Jq1fay &g )
a. Statistical testing (‘v'ﬂ@lﬁﬁ T*aﬂ?ﬂ?ﬁ) b. Analysis of textual material (HSIX i ﬁaﬁwr)

c. Hypothesis testing (Jfgced dTrufl) d. Interviewing respondents (MG aIT™ JelRad Uol)
(A) aandc (373M0T® ) (B) bandd (@ 3HMIE)
(C) Onlyb (PIIT ) (D) a b,andd (31,9, AT )

The Organizational unit which has to play the role of planner, adviser, researcher and Co-ordinator is
called:

ST, Gea TR, RNYdh 31101 -G DT YHhT SSTGUIT=IT HRATHD TTCa TUrdld:
(A) The line (375 ) (B)  The Staff (@HIRT)

(C) The Staff and line (FHTRT 30T ATEA) (D)  The executive(@RIHRI)

Authority is dependent upon:

CURERURIEEE ERERIEIRD)
(A) Positions (U<) (B)  Ability(&Tan)
(C) Knowledge (I) (D)  Skill(@P1eey)

What is one potential benefit of maintaining a Politics-Administration Dichotomy?
RISTHRUN TRIH-AT SaudrET Udh GHTH BTae] BT 3187)
(A) Preventing administrators from making policy decisions

(TR T YIR0T F0R HUgmR )

(B) Allowing politicians to directly control administrative tasks

(TRIND T HTATGR ISTHRUGHT e 407 STuaTe SgHe o)
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(C) Enhancing accountability and professional efficiency in administration

(IR STETEeRT 30T SATaHTe HRiedr area)
(D) Merging the roles of politicians and administrators

RIS RUT 3101 U= i YfHdhid ThaIdhur HR0)

Assertion (A): Max Weber advocated the concept of bureaucracy as an ideal type of administration.
Reason (R): Bureaucracy ensures efficiency through a strict hierarchy and clear division of labour.

(AU (A): T JaR- YR 3MTER UHR U TR g IO Adheu-dl GHL— &d .
@m;%mawwmm%wmm%ﬁ&mmwﬁw

(A) Both A and R are true, and R is the correct explanation of A.

(A 3TUT R TIal SRISR 31T]d, 3MUTR & A o T1g WPIHRT 3718 )
(B) Both A and R are true, but R is not the correct explanation of A

(A 3T R TIal SRISR 3MT8d, JUTR § A I IRg WPIHR ATa))
(C) Aistrue, but R is false. (A SRISR 318, GUT R g Id 31Tg)
(D) Ais false, but R is true. (A gPbId 38, UUT R SRIsR 3Tg.)

“’Public administration is a detailed and systematic application of law.’’” This is said by:

(" AU TS HIaTEl JURNTAIR 0T UgaRiR arR." 8 319 Wordid:)

(A) Piffner ((THR) (B) L.D. White (T3 S ®BTEC)
(C)  Woodrow Wilson (3S! faee ) (D)  Marshal Dimock (TR f&HTa)

Which are the types of society according to F W. Riggs?
(RISTFHIR FHISIT Uh R hUld 3Hled?)

a. Fused (TR[SS ) b. Prismatic(TIgHfc®)

c. Sala (HTc1l ) d. Diffracted (ﬁlﬁﬁ)

(A) abd (3T8) B) abc(HdD ATD)
©€) bcd@PI) (D) abcd(ATH )

Which one of the following is not correct regarding cabinet secretary?
(Ffec gRyg et @eltaus! S0 Th RIS ATRI?)
(A) He is the head of the cabinet secretariat (dl o AT THE 3MT8)
(B) He is not the principal adviser to the Prime Minister (Il HHTHTET T TN TR ATel)

(C) He is head of the Civil Service (Al T-4I YadT UHH 31Tg)
(D) He monitors and coordinates the activities of the various ministries and departments

@ fafay faumT T Harerare srigerard Rl d 99-ag dadn

In which year the Lokpal and Lokayuktas Bill was firstly introduced?
(DT d ADhgad HrIG HYal HIvl auf gyHad: Aisan)
(A) 1951(3R4Y) (B) 1958(3R4¢)
(C) 1968(3R&¢) (D) 1970(3R90)
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How are the Salaries and allowances of the Union Ministers of India determined?

(URATA shard Hxgid aa- 3101 U Y 3dd STdrd?)
(A) By the cabinet Secretariat (dfa-c FfIAIAATGR)
(B) By the Parliament (STdgR)
(C) By the Ministry of Finance (3{% HATGATGR)
(D) By the Ministry of Parliamentary Affairs (IG1d HTHEBTS HATTATGIR)

Which municipality can set up the one and more ward committee in their area?

(IO TTRUTRTERT ST ST U 3101 Udh &l SR dis e T31d B Yhd?)
(A) Where the population is more than seven lakhs (ST3 ST TTd ARG U&HT SIRd 3(T5)
(B) Where the population is more than six lakhs (ST T ReAT g1 ARG U&HT SR 3T5)
(C) Where the population is more than five lakhs (ST3 TeET UTd ARG U&lT SR 3178)
(D) Where the population is more than three lakhs (SI3 TAHERAT Ti- ARG &l SR 3T8)

Which of the Following are the Common compulsory provision of the 73" and 74" Constitution
Amendment Acts?

( 7331 STOT 74T TeATG o BT WU HIUI FHIRG AR aRqel 3ed?)
1) Five Year Election (qaaﬂ%fa? ﬁa@ﬂm 2) Reservation for backward Classes

. SR
3) Reservation for Women (H%Fﬂ 3R&UN)  4) Nagar Panchayats ("R UdTId)

Select the correct answer using the code given below

(@A PIS TG I IR a8l )
(A) 2and 3(2 30 3) (B) 1 and 4(1 30T 4)
(C) 1,2,3,and 4(1,2,3, 3ATOT 4) (D) 1and 3(1 30T 3)

Which one of the following is not the function of a District Collector?
@TeAUD BT BT SeaTfeT=ar ATEl?)
(A) Keeping Land Records (STTa=ir=dm Hidl 90T )
(B) Collecting Revenues (Hgcl TTIedT HUN)
(C) Issuing Statutory Certificate  (3&Tfe THTUTGS SR} HR0T )
(D) Hearing cases in Nyaya Panchayats. (<aTd PEIBREB GRETUIE {EHHUﬂ)

Comparative Public Administration has generally focused on the following:

(AT D AU YRG0 Wit MYR &l dbiad dal 3118:)
1) Development side of administration mwnﬁﬁmﬁ’ra@ 2) Bureaucracy

3) Value neutrality(Hed dc®idT) 4) Administrative reforms (EI‘-HWH JYRUM)

Select correct answer by using the codes given below
(@Il Ple g I TR
(A) 1and2(R 30T g) (B) 1,2and3(3,3 3MMUI3)
(C) 2,3and4(2, 33014 ) (D) 1,2, 3and4(1, 2, 3 30T 4)

Which of the following is/are characteristics of the New Public Management?
(@TAUD BT T Tl TaRITIAT afRee Mg 3Med/?)

1) Centrality of the citizen or customer (ARTR® fdhdT ATgHIT dHigaan)

2) Decentralized control (fdohfad fg=rom)
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3) Public and private provides competing for resources from policy makers and donors.
(TSI 3T Wrertt eiRor At T qurfleRie g Samemime! Tl Hard.)
Select the correct answer using the code given below
(T DS TR g IR
(A) 1 only(1 Ba) (B) 2 and 3 only(2 3Tf0T 3 )
(C) 2 only(2 ®e) (D) 1, 2and 3(1, 2 3101 3)

Meaning of the Globalization :

(ST bR 1)

a) Globalization as border openness (\rll*li?ldvnlcb(ulld R Gl 3HdId)
b) Globalization as a Process (STRTIAIeh 10T U UlshaT 3MTg)

c) Globalization as ideology mﬁﬁmﬁww 311%)

d) Globalization as phenomenon(STFTII 1RUT Tah 37d TE 31T8)
(A) ais correct(3f SRR 3l8)  (B) b is correct(¥ SRR

(C) ciscorrect(@ RIEX 3Mg) (D) a, b, ¢ and d are correct(3{ ,§ & 30T S SRR 37T d)

Who does appoint to the Chairman of Public Account Committee?
(@I a1 AT 37eel il fAged Hral)
(A) President of India (YR AFYT) (B)  Governor of State (XTSITT M)
(C) Speaker of Lok Sabha ((hayaT 3{edef) (D)  Speaker of Rajya Sabha (RTSTY T 31e0&f)

Which of the following taxes does not belong to the Union exclusively ?
IV B hacs G- ATg1?)
(A) Customs (THIReD ) (B) Land Revenue (STHIM Hgal)
(C) Income tax (3=HH Co) (D) Corporation tax (PIIRYH ca)

Which constitutional article provides special provisions for the welfare of Scheduled Castes and
Scheduled Tribes in India?
(YRAIT TfaeTTcdie DIorar siwse g St SH1f0T Sgfd SHTda hedTumara! fa=y
el UaH HRdl?)

(A) Article 46 (375G 46) (B) Article 21 (3fJ®q 21)

(O) Article 15 (3¢ 15) (D)  Avrticle 19 (315G 19)

Social justice refers to the concept of creating a fair and just society where every individual, regardless
of their background, has equal rights and opportunities. In the Indian context, social justice is closely
linked with policies like reservation and affirmative action, aimed at uplifting marginalized groups such
as Scheduled Castes (SC), Scheduled Tribes (ST), and Other Backward Classes (OBC). The Constitution
of India, ensures that the state promotes the educational and economic interests of the weaker sections of
society. Additionally, social justice is tied to ensuring equality, equity, and inclusiveness, enabling
individuals from disadvantaged communities to access education, healthcare, and employment without
discrimination.

What is the primary goal of social justice in India as mentioned in the passage?

TS <R WUl A Sfor < garet Rafu srugren Seedar ey omg Y uded
gaitan, it U HTE! 3N, THH gad ST Aeft SRciayRdIg JeHid ., FHIoe <O §
I S )SC), SIIIed ST )ST), WWW)OBC)W@%HWW

PHRUGTAT I HREUN O HRIAD Pl ARG YRR Sldes Siedd MeHRA
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45.

46.

47.

48.
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Tfaem, g R B Bt o0 FHNIN gad geawter Qe s snffe fRadse @
., TS =T FHHT, FHFAT S0 GaqHa=Iebdl AT exuaRl Sedd 3,
%ﬁﬂwﬁﬂﬁwﬁmﬂauﬁﬁamﬁw SRITTIT 30T ASHIRTH Tl SO HeH
R e STTER, YR AT T G SE2 B 318?)
(A) Promoting economic liberalization (3N IgRIGIUTAT YT S0
(B) Ensuring equal rights and opportunities for all (JafaT3! TH §F G{ﬁﬁ%ﬁﬁﬁ@?{m
(C) Fostering foreign investments (TR &b 1T TdaUleh el TTedTg+ GOl

(D) Regulating corporate governance (Eb_\lﬁi_c’ ‘1%7[7\‘4%[ IGUEE] W@)

Following which are the stages in Policy Formulation Process?

(YR TR HUgTHT Ulchadid @idid el 3Tgd?)
a) Identifying Public Problems (HIOf\ﬂﬁch JHA] aﬁwrh)
b) Putting Public Problems on Policy agenda Nﬁﬁ%w SIRuTTT H@W%ﬂﬁ)
c) Formulation of a Policy Proposals to deal the problems (JHIT ST UATITAT R UT URATd TR cb{U\I)
d) Making policy decision (Wﬁ@aﬁ)
(A) Only (a) and (b) are correct (o 37 30T & SRISR 318
(B) Only (a), (b) and (c) are correct (Bad 3 T30 & SRR 38 )
(©) Only (b), (c) and (d) are correct (Thdd 31, AT S TR G{I%)
(D) (a), (b), (c) and (d) are correct (31,8, AT & I 3ATR)

Which thinker Associated with Public Policy Approach?

S SR = PHHRR Teftid Hivmar foardd?)
(A) Herold Lasswell (818 S ad) (B) Herbert Simon (8¢ TTTH)
(C) Ted Gabler (¢ TIaeR) (D) David Eston (Sfcg8 T&H)

Assertion (A): E-Governance improves the efficiency and transparency of government services.
Reason (R): E-Governance eliminates the need for traditional bureaucratic processes.

(AFYT)A): & M IRBRT YT BRI 0T TRERIHdT JURd-
HRUNR): 3 NI IRUTRSG IRIH 1T Ufehad! TR HUad-)
(A) Both A and R are true, and R is the correct explanation of A
(A 3TUT R TIa1 SRISR 3MTed ST R, A d TG WPIHI 3T5)
(B) Both A and R are true, but R is not the correct explanation of A.
(A 3TUT R GI61 SRISR 3MT8d, UUTR 8 A I IRg WPIHR0 ATan)
(C) Aistrue, but R is false. (A SRISR 3118, GUT R b1l 318 .)
(D) A false, but R is true. (A eI 3Tg, UUT R SRR 3T.)

Assertion (A): New Public Management (NPM) emphasizes the use of private sector management
techniques in public administration.
Reason (R): NPM seeks to minimize government intervention in economic and social affairs.

(FHHYT )(A): d FTaoT - TIRITYT )NPM) TTaol-ds TRMATHE W &3] TaRITIH
TSI ATOR HRUATAR R S
(@R (R): NPM 31 3101 GrTioies aagRiAe] TRBRT gXda&U HH! HIuaTel Uad Hd )

(A) Both A and R are true, and R is the correct explanation of A.
(A 30T R Tg! SRISR 3MTed AT R, A T TG WEIHR 3R

Page 10 of 11




PET 2024 (9028)

(B) Both A and R are true, but R is not the correct explanation of A.
(A 30T R GIg! SIS 3Ted, UUTR § A I I179 WP Tal )

(C) Aistrue, but R is false. (A SRISR 3{Tg, UUT R bl 3178.)

(D) A false, but R is true (A JbTdT 3Tg, UUT R SRISR 3Tg.)

49. Which of the following is a characteristic of Postmodernism in Public Administration?

50.

(AP ULTATN S IR MYfFeha IfRrsed HIvid 31Me? )

a. Emphasis on diversity A HY )

b. Rational decision-making @mﬁquﬁﬁ )

c. Focus on hierarchical structures (Qvﬂa?g TR a8 bigd Wfﬂ)

d. Deconstruction of traditional values (URUTR® Hedia faue )
(A) aandb (313M0T9) (B) aandd (31 3US)
(C) bandc (&30S ) (D) candd (@ 3OS )

The Minnow brook Conference is associated with which of the following?
(IS uReg PIomeh efdd &ng? )
a. New Public Administration (HdcI[pURTHT)

b. Bureaucratic reforms (URITeh1F JHYRON )
c. Postmodernism (3T &Hﬂlr'\-lwclldld )

d. Electoral reforms (&Iﬁ?{% YR )
(A) aandb (31 30T d) (B) aandc (31 3M0I®)
(C) bandd (d 30TE) (D) candd (& 3MUTE)

*khkkkkikkkk
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